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The figures in the right-hand margin indicate full marks.

Time : 4 Hours

Candidates are required to give their answers in

their own words as far as practicable.

1. Answer any five questions: 1x5=5
@~ #A1ofs sz Tea e ¢

1)  What is the relationship between marginal
propensity to consume (MPC) and marginal

propensity to save (MPS)?

2fTF Col9l 2o 3R 2AfTF HWW 2T [
JI 2

11)  What is an IS curve?

IS (241 SIS =12
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iii)

What is value of money?
o P 2
What is 'Business Economics'?

ifdfere wdRfs FiE e

v)  What is law of demand?
vifEnPE FIE A2

vi) Define marginal product.
Aifes TesAmEs kel 7l |

vii) Give an example of fixed cost.
7 I 9% Trizel wie |

viii) What is the shape of demand curve in a
monopoly market?
GEGAl el bifenl @ wighe 7R e

2.  Answer any ten questions: 2x10=20

@I i A Ted Tl ¢

i)

ii)

iii)
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What is demand function?
BIfEW ST FIE A0 2
Define income elasticity of demand.
pifzvE SRee Rfegloror kel ne |
What is Iso-Cost line?
IR (A TS F (@R
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Vi)

vii)

viii)

X1)
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What do you mean by Opportunity Cost?
R A WIS F (@R 2

What do you mean by ‘zero sum game’?
Tal AN Frel S 02

What is liquidity trap?

OIRE T 2

What do you mean by 'Giffen good'?
oI By eI 2

What is production function?

TRATH SATS 00 (IR 2

Mention the relationship between value of
Marginal Propensity to Consume (MPC) and
the Multiplier.

W5 W3R AIfEF (@19 AT T W AL
T T4

Mention the condition of equilibrium for a

producer.

T SIRAIGTE *$ T 4 |

What is inflationary gap?

TUFHIeT FIF 6700 1 @RI 2
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xii) Draw average revenue curve and marginal

revenue curve of a competetive firm.

93T ASRIMORETF TG 918 BIF (@4l @R 2lfeF
I @ OE 7 |

3. Answer any five questions: 6x5=30

- oo amd Ted wie ¢

i)

ii)

iii)
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Explain the concept of 'Paradox of Thrift'.
Fregfon v e aen® e $4

Explain briefly basic features of monopolistic

competetive market.

OFEHA AfSRINOTAF el M=l @Bl
BIISIIES

Discuss the Quantity Theory of Money.
RIRERIERICASE TS GIDIE

Explain briefly the concept of law of variable

proportion with suitable diagram.

Toge fog T AAfdedin omeiten s
HCFCo IR |

With a suitable diagram briefly explain the
relationship between Short-Run Average Cost
Curve (SAC) and Short Run Marginal Cost
Curve (SMC).
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Vi)

vii)

viii)

"o foarzwicsl FaFea 5% I3 @4 (SAC)
QR FEFEI AlfeF TAEAF (SMC) T2y FT=1F
FEHCA IR 4|

Explain the factors that lead to shifts of LM

curve.

LM @ ZHESAER oFe s el
9|

Distinguish between concept of demand pull

and cost-push inflation.

piftwidfa wfve ¢ afa wfte swrdifon s
A 4|

Discuss the features of a business cycle.

a3 Alffersred @Rl SiEna $4 1

4.  Answer any three questions: 15%x3=45

- Toals areg Tex wie ¢

i)
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a) Show that Mathematically monopoly
price is higher than competetive price
but monopoly output is lower than
competetive output.

S AR (P @ GG v efscia
A S (N ' e aolal s
ST sif=el Ses 5 |

b)  Discuss the condition under which price
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i) a)
b)
c)
i) a)
b)

discrimination is profitable.
@ SRR SARETe N e
ieEF 23 O Ao F< |

8+7=15
What are the factors on which individual

demand for a commodity depends?

Jieare bifen (@ (@ RRARE Toig e
Pa?

Why demand curve is downward

sloping?
oifenl il (e e

What are the major exceptions to Law
of Demand?
vifenl RG] foaaafe] 2

6+2+7=15
Mention the characteristics of 'Saddle
point'.
ee Rvm @REel S w9
Solve the following pay off matrix:

Player-B
B B B

1 2

A 3 9

1

5
Player A: A, 12 10 8
7
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A, 8 6
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frsferiie Aifewilsre vl smeE

9 ¢
CATTINIe-B
B, B, B,
A © B €

@ETET A: A, [ o v

i
q
c
D

5+10=15

iv) a) What is the difference between risk and

uncertainty?

Jfe ¢ wfemozrel Sy N Fe

b) Explain Expected Monetary Value
Criteria with the help of a suitable

example.
TS TAZACR AR @doffie S|
~Ifefs 2y < |

c) Using suitable example, discuss Bayes
criterion to make decision under the

condition of uncertainty.

Toge TuiRdel W wiNEre SRl
Pal® &g (%0q (79 (Bayes)-a7 qemefs
I B4 | 3+5+7=15
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Vi)
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a)

b)

Explain the Keynesian Cross diagram.
@2 Cross @G apien 41

When a fiscal expensionary policy shifts
the IS curve to the right, if LM curve is
horizontal, what will be the effect on 'r'

and 'y'?— Explain.

T4 @3 Tdfes Iae Aervaifes
e IS (21 e e A, AW LM (=9t
SIS 23, O 't R 'y T F el
A9 e— T 91 5+10=15

Discuss the various effects of inflation.

wriifen [fer ger SETea 341
How could you control Business Cycle?

ey v el Wz s e

Explain Keynesian theory of
Inflationary gap.

(PP JEFHTS Gt Al Fie
5+5+5=15
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